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e % fo feafafeaa § @ s s 7 735

29

(1) aHfi e g STl ofre 9 # |

(2) FARA H Taifees goe T TEed ? |

(3) THHA F omE &t s sAfedem
FEEd 39 # |

(4) @ STRwHRS AlRS 3 |

Frefafee & @ g@ 13 & o= 7 waAfvas Gt #

FHIF-AT T TE R ?

(1) B<Al<In<Ga<Tl

(2) B«<Ga<Al<In<Tl

(3) B<Ga<Al<Tl<In

(4 B<Al<Ga<In<Tl

CIF, H W= § Hod W®AY Cl W TS 1
FAagHI ol TS B

1) T

(2) dH

(3) =R

CON

N-NfERT # FTh AT TR HT Hed gl
wE A B

(1) HNOg, NO, Ny, NH,CI

(2) NH,CI, N, NO, HNO,

(3) HNOg, NH,CL, NO, N,

(4) HNOg, NO, NH,CL, N,

frafafas & @ SR o= MFg_ s T H
afomy § 2

(1) Ga

(2) In

3) B

(4) Al

form oTRE W WH § @l g fEfaiem § @
BN UG H WM UGHA b o= § fea 9
THaT & ?

(1) Fe

(2) Cu

(3) Mg

(4) Zn
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Which of the following statements is nof true for
halogens ?

(1) All form monobasic oxyacids.

(2) Chlorine has the highest electron-gain
enthalpy.

(3) All but fluorine show positive oxidation
states.

(4) All are oxidizing agents.

The correct order of atomic radii in group 13
elements is

(1) B<Al<In<Gax<Tl

(2) B<Ga<Al<In«Tl

(3) B<Ga<Al<Tl<In

(4 B<Al<Ga<In<Tl

In the structure of C1Fg, the number of lone pairs
of electrons on central atom ‘Cl’ is

(1) one

(2) three

(3) four

(4) two

The correct order of N-compounds in its
decreasing order of oxidation statesis

(1) HNOg4, NO, N, NH,CI
(2) NH,CL N, NO, HNO,
(3) HNOg4 NH,CL NO, N,
(49 HNOg4 NO,NH,CL N,

Which one of the following elements is unable to
form MFg_ion ?

(1) Ga

(2) In

(3 B

4y Al

Considering Ellingham diagramn, which of the
following metals can be used to reduce alumina ?

(1) Fe
(2) Cu
(3) Mg
(4) Zn
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10.

A A T Na & 1f%flpan saH W 98 B <a1 2 aen
PCl; & @19 sfFn FaM maE C @R IBWE C
24 & T § sfufrn e W TEuie R W
A2 ABINCHAHE

(1) C,HgOH, CoHg, CoHCl
(2) CyHgOH, C,HONa, C,H,Cl
(3) CyHCl, C,Hg C,HO0H

(4) C,H.OH, C,H.Cl, C,H,ONa

RS (A) sifA ¥ sfewer grn iffeen wek
wh Ufewet smSE 2@ & S f 9w erfufen gm
i wrsgieEd | uiafda g @ foew 6 wR & wn
HIE AN | (AR

(1) CH=CH
(2) CHy
(3) CHz-CHg

(4) CH,=CH,

o A C,H, et sl ¥ o & -

3ClL/A Bry/Fe _ Zn/HCI
/4, 5 BrelFs g Zn/HCOL

C,Hg
IR TR
(1) m I
(2) p-ﬁ“lﬁ]ﬁﬂﬁq
(3) 3-FWI-2,4,6-TRFARRIIE
(4)  o-FHEIIH
IHES § Wi UF AE feemedt dFi @ Fifife e
B BT ATFFE AR FG¥F g7 8 ?
(1) NyOs
(2) NO
(3) N0

) NO,
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The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A B and C are in the order

(1) C,H.OH, C,Hg, C,H.CI
(2) CyHgOH, CyHzONa, C;HCl
(8) CyHsCl, CyHg, Co,HzOH
(4) C,yHgOH, C,H;Cl, C,H;ONa
(A)
substitution to form an alkyl bromide which by

Wurtz

hydrocarbon containing less than four ecarbon

Hydrocarbon reacts with bromine by

reaction is converted to gaseous

atoms. (A) is

(1) CH=CH
(2) CH,

(3) CHg-CHg
(4 CHy;=CH,

The compound C.Hg undergoes the following

reactions :

3Cly/A | Br,/Fe
2/4 , Bry/Fe 7n/HC|

C-Hg
The product ‘C’ is

(1) m-bromotoluene

(2) p-bromotoluene

(3) 8-bromo-24,6-trichlorotoluene

(4) o-bromotoluene

Which oxide of nitrogen is nmof a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) NyOg
(2) NO

4 NO,
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11.

12,

13.

14.

frfafan o=l ® NaOH wW HCl 6 fim-fm
AraTell U9 TR % [ 8 <=E W

a. 80 mL E HC1 + 40 mL, % NaOH

10
b. B5mL % HC1 + 45 mL % NaOH
c. 76 mL % HC1 + 25 mL % NaOH
M

d. 100 mL, — HCI + 100 mL E NaOH
10 10

T ¥ forae pH, 1 % <=t 8 ?
(1)
(2)
(3)
(4)

B o g

fafafee § @ S99 ™ W aRA 6 e g
e w8 2

(1) HaIe TRA & A gRuEm T

(2) FHIA AIRA 5 AW g W

(3) HRM % AEY IRAT ug EW R 9 W

(4) A TRA & AHR T

BaSO, HT 208 K W 9« # fagiaar 242 x 107% gL™!
2 | forcteran oM (K, ) 1 AH &

(feam T @ BaSO, 1 AR §599H = 233 g mol ™)
(1) 108x107 % me1® .72

(2) 108 x 10~ mol? L2

(3) 108x 10 * mol® 1.2

(4) 108x 10 2mol® .72

NH,, H,, O, @1 CO, % fiT Iret a8 &R
®HAM: 417, 0244 136 T 359 fuw mu & |

frefafan & @ w9 A g=0 A ¥ | 2 S
22

(1) NH,
@ o,
3 O,
@ H,
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Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 80 mL E HCl + 40 mL, E NaOH
10 10

b. 55 mL, E HCl + 45 mL, E NaOH
10 10

c. 76 mL % HCl + 235 mL % NaOH

d. 100 mL M HC1 + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(1)
(2)
(3)
(4)

B o

On which of the following properties does the
coagulating power of an ion depend ?

(1) The magnitude of the charge on the ion
alone

(2) The sign of charge on the ion alone
(3) Both magnitude and sign of the charge on

the ien
(4) Size ofthelon alone
The solubility of BaSO, in water is

242x 10 gL' at 208 K. The value of its
solubility product K will be

(Given molar mass of BaSO, = 233 g mol ™)
(1) 1.08x 10 ° mol? .72

(2 1.08x 108 mol® L2

(3) 1.08x 10 *mol® .2

(4 1.08x 10 2 mol? L,

Given van der Waals constant for NHg, Hy, Oy
and CO, are respectively 417, 0-244, 1-36 and
3-59, which one of the following gases 1s most
easily liquefied ?

(1) NHg

(2) CO,

(3) O,

(4) H,
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15.

16.

17.

18,

19.

Hiew 1 ¥ for o ag omE # diem 11 # fow
ARA h WHW gEHE g ¥ fEmy e
#gt weha i Tfdwe SHifvm -

Fierq 1 Fiow IT
a Cot i. 8 B.M.
b. ot ii. 35 B.M.
c. Fe't iii. 3 B.M.
d  Ni** iv. 24 BM.
v. 415 B.M.
a b c d
(1 iv v ii i
(2 i v i ii
3 iv i ii iii
4) i ii iii iv
SRRA HTETHE, Fe(CO)5 R
(1) IqHH5H
@ fFes
(3) Frpgs
(4) THHTH

[Ni(CO),] Hpet o1 Sl T Frarchid 0 &

(1) = wHael sl @ sfegeada

(2) TEEHAHE FAMHG TF AT

(3) = FHG SIHIG T S

(4) geHaSHE saHfa @ fograsa
fafafee § & SR amA d-d FHEEw 2w }
Y A A D ol ?

(1 Cro;
(2) MnO2"
(3) MO,
4 Cry02”

FFA [CoClyen),] GRT Tl FHTTITAT HT THR ¥
(1) i TeEeEar

(2) FuT IHTEEEA

(3) SARFN H9TEEEa

(4) IUHEEHISH THIEEEA]
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Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column I1 and assign the eorreet code :

Column I Column IT
a Cot i. 8 B.M.
b. cr’*t ii. 35 B.M.
c. Fe*t iii. 3 B.M.
d  Ni% iv. /24 B.M.
v. 415 B.M.
a b c d
L iv v ii i
@ i v i ii
3 iv i ii iii
4 i ii iii iv

Iron carbonyl, Fe(CO); is
(1) tetranuclear

(2) dinuclear

(3) trinuclear

(4) mononuclear

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) square planar geometry and diamagnetic
(2) tetrahedral geometry and paramagnetic

(3) square planar geometry and paramagnetic
(4) tetrahedral geometry and diamagnetic

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

1 Cro;”
(2 MnOZ~
(3) MnO;
@  Cry02”

The type of isomerism shown by the complex
[CoCl,(en),] is

(1) Geometrical isomerism

(2) Linkage isomerism

(3) Ionization isomerism

(4) Coordination isomerism
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20. Fafafea sfufrn @ 4 ge9 3o_ P, @ 3R R
aﬁqﬁTﬁQ:

faeie
AIC]
@ + CHyCH,CH,Cl ———2»
© 0y
R
a0’ Y
P Q R
CH,CH,CH; CHO
o | CHyCH, — OH

OH
CH(CH,),
@) @ , _ CHy-CO-CH;

CH(CHy),
@ CHyCH(OH)CHg

CH,CH,CH; CHO  COOH

Q0.0

fefafae # @ s9-w A Ramemm a1 goa
22

(1)

(8

21,

et
TAGEH
TG T
wfiefemss

(2)
(3)
(4)

LAACH/QQ/Page 6

7 WX ANTS Iy - C O TTEeT
T ek TG R 1 SPAGE FOR O GHWORK

20. Identify the major products P, @ and R in the

following sequence of reactions :

Anhydrous

AICl
@ + CHgCH,CH,Cl ——2—»

(@) 0y

P—= >
(ii) HyO*/A

Q+R

P R

Q
CH,CH,CH; CHO

m | CH,CH,—OH

OH
CH(CHy),
) O , . CH,—CO - CH,

CH(CHy),
O CH,CH(OH)CH,

CHO

3

CH,CH,CHy COOH

Q0.0

21. Which of the following compounds can form a

zwitterion ?
(1) Aniline
(2) Glycine

Benzoic acid

(3

(4) Acetanilide
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22,

23.

24,

ffafan & & fFm o & and & o % v |
sp?, sp? sp, sp HHUI AT AT & ?
(1) HC=C-C=CH
(2) CHg-CH =CH-CHg
(3) CH,=CH-CH=CH,
(4) CH,=CH-C=CH
frefafee & @ @F-w FdvRR it wmwEh
orfera & 9
NO,

(1) ®

Y H

NOg

H
@ v

NO,

®

(4}

Y H
fafafee & @ shemwrl % -1 wmE % @i #
HH-91 T B ? (R = Ufespe)
(1) -NHy<-OR<-F
(2) —-NRy>-OR>-F
(3) —-NH;>-OR>-F

(4) —-NR;<-OR<-F
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Which of the following molecules represents the
order of hybridisation sp2, spz, sp, sp from left to
right atoms ?

(1) HC=C-C=CH
(2) CH,-CH=CH-CH,
(3) CH,=CH-CH=CH,
(4 CH,=CH-C=CH

Which of the following carbocations is expected to
be most stable ?

N

0,
o Q
Y H
NO,
N

0

0,
g
v/ &

NO,

5

2)

v

4)

Y H

Which of the following is correct with respect to
— 1 effect of the substituents ? (R = alkyl)

(1) —-NHy;<-OR<-F
(2) —-NR;>-OR>-F
(3) —NHy;>-OR>-TF
(40 —-NR;<-OR<«<-F

Hindi/English



25.

26.

27.

28,

Ihifirem T ™ (X ¥ sl v st
dffes T 2| o3l (X w1 Feom otemnm #

e T 1s® 28 2p® %, 1 3@ dfe @
AW g 3
(1) MgyX,
(2) MggX,
(3) Mg.X
(4) MgX,

SRR 61 FAY o 919 W bee AT AT # | 900°C &
FR I8 fec TEAT 1§ qRafds &1 A 2 | SIRA F FW
% A T T BT 900°C W9 R Ted ¥ ST &
(W HifT SRR %1 AR geaaH ud Ty e am
% @1y fér #)

(1)

= sl

(2)

W b
@

(3)

Sha

TN

(4)

&

frafafea § & S99 =W araew & 9
(1) ¢ FH § 3oagq H F HEH BTG T
T F W2 |

@ desfmmHmaRTE |

(3) N WA HI FeF S o=
132 232 2p; 2p; 2p;

tO1t LML R
TH HEH o F9ed e o ffde 2 s=fe
T% WA § Uh FoiagH R dEied Geds d
ffie 2
Frefafeas ofivis w TR Sk .
CN* CN~, NO @ CN
T ¥ fradh T=aH sTEY Fe ? 2
(1y NO
(2y CN
(3) CN*
(4) CN~

(4)
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Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 1s? 2g? 2p3, the simplest
formula for this compound is

(1) MgyX,
(2) MggX,
(3) Mg,X
@ MgX,

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fee structure. The
ratio of density of iron at room temperature to
that at 800°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

(D

(2

= sl

35
42
45
342

Which one is a wrong statement. ?

(D

(3

(4)

Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(2)

The value of m for dzz is zero.

(3

The electronic configuration of N atom is
1s2 282 2p‘1: 21’; 21’1

Ot LAt

An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(4

Consider the following species :

CN* CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) NO
(2 CN

(3 CN*Y
(49 CN~
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29. 38 sAfafE

30.

31.

OH ONa*
@ + CHCl, + NaOH ——» @ CHO
# withfer goiagieTd &

®
(1) SRFITARERE = (CHCL,)
(2) TEFARHE (:CCly)

=]
(3) SRFARMRS TR (CHCLy)

®
(4) Sifd g9=F ( CHO )

FEHATh STFAl o IS THGeT HAvTH FoIaH
I tfcesel, $RHT au uw o % UewEe ¥
= B ¥ | 9 e FRw A R 0

(1) AP FRSeH a8 &4
(2) SRS aTREH 999 o9 o

(3) AT T H HAfUH SAUH T T
TeH ATHYT FAT & AT ET §

(4) SHEITFEAE ARE % I 4

T AMfirh & A, CgH,,0 F1 6 NaOI (Y &t arfufsman
NaOH & &% a7/ ) o aifufean s emafres

Y T G oY T R |
A SR Ywr: §

@ Hee~ ) CH, - oH 3,

CHg

©)) CH34C§*OH31°|T12
3 CH - CH, 31
(3) @‘6}1 3 2

(4) @— CH, — CH, — OH 3K I,
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In the reaction

OH O Na't

@ + CHCly + NaOH —> @’CHO

the electrophile involved is

@
(1) dichloromethyl cation (CHCl,)

(2) dichlorocarbene (:CCl)

=]
(3) dichloromethyl anion (CHCI,;)

@
(4) formyl cation ( CHO )

Carboxylic acids have higher boiling points than
aldehydes,
comparable molecular mass. Itis due to their

ketones and even alecohols of

(1) formation of intramolecular H-bonding
(2) formation of intermolecular H-bonding

(3) more extensive association of carboxylic
acid via van der Waals force of attraction

(4) formation of carboxylate ion

Compound A, CgH;,0, is found to react with
NaOlI (produced by reacting Y with NaOH) and

vields a yellow precipitate with characteristic
smell.
A and Y are respectively

() HyC < - CH,- OHand 1,
CH,
@ CH, —O— OHandI,

@ ) CH - CHg and T
OH

@ ¢ )-CH;-CH,—OHandI,

Hindi/English



32.

33.

34.

35.

oW wife ug T wife srfafsranati § o e 2

(1) oW Hie & fulen &1 9 aiers H
argal w sk Td s @ fidm wife &
aiffr =1 30 sfrers i gremet w R
AT 2

(2) W S 1 Ml w1 9 aiere H
st W s e ®; fodim @rfe i sifsfen
F 9 AFERS b Agaet | R = W
8

(3) W Hife $i sfulea w1 s fen s g%
& fodim wife 1 sifufsran +1 seifa & fomam s
wHat ]

(4) oW Hife o srffsean o ard-omg (Al W FR
& & fodl wife 1 srffsen & srdammy (Al
R R

CaH,, BeH,, BaH, § #A@f® Y&Hid &1 %4 &

(1) BeH, < CaH, < BaH,

(2) BaH, < BeH, < CaH,

(3) BeH, < BaH, < CaH,

(4) CaH, < BeH, < BaH,

fre fou 7o omm #, g 1 sTRiew sEEen #

gied faftm fa.91. 99 (emh) WRI W e mn 2 -
- 182V - 15V

BrQy — BrOg — HBrO
Br “Toesav D72 1-595V|
FF-T T STETRA & T 2 2
(1) Bro;
(2) HBrO
(3) Bry,
(4) BrOj

Tora Teufa § 9@ & sTviefi #1 T AAfusaq & 2

(1) 18 mL ¥« % fog

(2) 1039 5@ & fow

(3) 1atm U9 273 KW 0:00224 L & 919 % fo1Q
(4) 018 g¥@ &% oW
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The correct difference between first- and

second-order reactions is that

(1) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(2) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

(3) a first-order reaction can be catalyzed: a
second-order reaction cannot be catalyzed

(4) the half-life of a first-order reaction does not
depend on [A]y the halflife of a

second-order reaction does depend on [A],

Among CaH, BeH, BaH, the order of ionic
character is

(1) BeH, < CaH, < BaH,

(2) BaH,; < BeH, < CaH,

(3) BeH, < BaH, < CaH,

(4) CaH,; < BeH, < BaH,

Consider the change in oxidation state of
Bromine corresponding to different emf values as

shown in the diagram below :

_ 182V _ 15V
BrO; — Br0; — HBrO

Br

“To652V 52 “1s05V

Then the species undergoing disproportionation
is

(1) BrOj
(2) HBroO
(3) Br,

(4) BrOj

In which case is the number of molecules of water
maximum ?

(1) 18 mL of water

(2) 10™2 mol of water

(3) 000224 L of water vapours at 1 atm and
2T3 K

(4) 0-18 g of water

Hindi/English



36.

37.

38.

39.

40.

foie 9g STy T 95l % day | fefafea §

¥ HH-H1 HH T 2 2

(1 H foftm e wgee JEeei F d=

TEEATH AET B # |

(2) %ﬂwwﬁmmm
|

(3) bl TH AT 56 I F |

(4) :ﬁﬁ?ﬂm@ﬁma@%wﬁ@
|

R & TRdE Yew oreiE A B R W

m - ot ST 8 FAifh

(1) wiowms 1 Iufedfe % SEeg TR wE gHe
%99 m-Furfe w & Smar 2

(2) ot (Ew) o ¥ Ufein vt ome
FEUHA IR |

(3) wwms H ogufeife § Amg R gEen
m-T&Ifd W Am R

(4) ToEgMEE wfowmm afufe § Wi g
m-ﬁém%I

frefafea & @ s seases F w=@ifes sl

THid & 2

(1) MgO

(2) CaO

(3) BaO

(4) BeO

e vE Ui # fafiea ?

(1) UERREAE 1 > 4 oW A1 > 6 TG
&

(2) U WM U AEEE ¥ TR

(3) UFEHREAH 1 >4 TF M1 >6p-THR

4 YEEd 154 odFT TN 156 paAFR

23 g Wit o @] 4-5 g TS 3 S Tg
H,80, & T #am W swafia d&w fasm ®1 KOH

% B ZHe ¥ TART 91 & | STP W = gL IQ
F R (g FMW

1y 14
(2 44
(3) 28
(4y 30
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Regarding cross-linked or network polymers,
which of the following statements is incorreect ?

(1) They contain covalent bonds
various linear polymer chains.

between

(2) They contain strong covalent bonds in their
polymer chains.

(3) Examples are bakelite and melamine.

(4) They are formed from bi- and tri-functional
monomers.

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1) In spite of substituents nitro group always
goes to only m-position.

(2) In acidic (strong) medium aniline is present
as anilinium ion.

(3) In absence of substituents nitro group
always goes to m-position.

(4) In electrophilic substitution
amino group is meta directive.

reactions

Which of the following oxides is most acidic in
nature ?

(1) MgO
(2 CaO
(3) BaO
(49 BeO

The difference between amylose and amylopectin
is

(1) Amylopectin have 1 —4 o-linkage and
1 — 6 a-linkage

(2) Amylose is made up of glucose and
galactose

(3) Amylopectin have 1 — 4 o-linkage and
1 — 6 pB-linkage

(4) Amylose have 1—4 o-linkage and

1 — 6 pB-linkage
A mixture of 2-3 g formic acid and 4-5 g oxalic
acid is treated with conc. Hy80,. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

(1) 14
(2) 44
(3) 28
(49 30

Hindi/English



41.

42,

43.

44.

45.

igiem arfufsn
MnO, +Cy0; + H* —— Mn? +CO, +H,0

¥ fir g wiem 3 fu afers F wd P
%

MnO; €07~ H'
(1) 16 5 2
2 5 16 2
3 2 16 5
4) 2 5 16

AT A9 THERT § Hee 0 ‘o’ Hefed 2
(1) 9 oIl S =

(2) 9 AR F AL IR T B

(3) T\ oAUt & wea Syl fogg-em @
(4) 9 TRl & AEE o

sAfafren § frafafas § @ $H-H g Aftesa 3o
i & g SoRerh 2,

Ay @+ By (@ =X, (@
(1) P amwE I= I
(2) = aM wE A= TR
(3) I 4N U9 I= T
(4) FETmw f=TE

AH=-Xkd?

X, Y, 3R XY #1 ey fem Safell &1 oTqum
1:05:1 % | XY % f@mw $Hi whed
AH = — 200 kJ mol™! & | X, I sy faaem ot
Ll

(1) 200kJ mol™

(2)  400kJ mol™

(3) 800kJ mol™

(4) 100kJ mol™

9 RS H IR T[Tt w1 T fea s g,
@ ¥ wife aAfufsren & fog ored-omg @

(1) 7T 2T 8

(2) sRafda & 2

(3) fopFmam?

(4) THEE 2
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For the redox reaction
MnO; +C,07” + H*—— Mn** + O, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; €07~ H'
(1) 16 5 2
@ 5 16 2
@ 2 16 5
4 2 5 16

The correction factor "a’ to the ideal gas equation
corresponds to

(1) density of the gas molecules

(2) forces of attraction between the
molecules

gas

(3) electric field present between the gas
molecules

(4) wvolume of the gas molecules

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ag@+ B @ =X,(@ AH=-XkJ?
(1) Low temperature and high pressure
(2) High temperature and low pressure
(3) High temperature and high pressure

(4) Low temperature and low pressure

The bond dissociation energies of X, Y, and XY
are in the ratioof 1 : 0-5 : 1. AH for the formation
of XY is —200 kJ mol™. The bond dissociation
energy of X, will be

(1) 200 kJ mol ™
(2) 400 kJ mol ™"
(3) 800 kJ mol ™
(4 100 kJ mol ™
When initial concentration of the reactant is

doubled, the half-life period of a zero order
reaction

(1) ishalved

(2) remains unchanged
(3) istripled

(4) isdoubled

Hindi/English
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47.

48,

49.

Fefafam 9 & sEaie w9 TR =1 Smw 7

29

(1) wifm

(2) ImEhifa

(3) digfersA

(4) fafewmaa

HH U FH A HioWIH TEEYY 2 T T]

(1) ZHfE & duR YT 5 e mm 5 e
H 721 &dl & HEIRE % fw |

(2) TRIRE w| g o UFeT @g & A oAEY
fmfor =t Tpar 2 |

(3) UfFeA dg ¥ wefee i Y em R R
(4) AT WdNe ¥ due 30 fHamie s g |

frefafas § @ SH-H SR PRGN awEd €9 9
@A -3eqfeT § e Hal 8 ?

(1) T& By

(2) Trfm il

(3) e (Wece) Hifrw

(4) voISHT HifvreTd

Ty [ § S W % e 11 6 HEl @ e Fifs
sfr 9= feu W faweul # ¥ mEt fawew = o=@

HifoT
o & Il

a.  THIgTSHINH i Rl age

b. g ii. @ g

c. VAR ifi. sferer fomenfafer
a b e

(1) iii i i

(2) i i i

3 i i ii

4) i i in
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Which
respiratory disorder ?

(1) Anthracis

of the following is an occupational

(2) Emphysema
(3) Botulism
(4) Bilicosis

Calcium is important in skeletal muscle
contraction because it

(1) binds to troponin to remove the masking of
active sites on actin for myosin.

(2) prevents the formation of bonds between
the myosin cross bridges and the actin
filament.

(3) detaches the myosin head from the actin
filament.

(4) activates the myosin ATPase by binding to
it.

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1) Chief cells

(2) Parietal cells

(3) Goblet cells

(4) Mucous cells

Match the items given in Column I with those in

Column II and select the eorreef option given

below :
Column I Column IT

a.  Fibrinogen i. Osmotic balance
Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechamsm
a b c

(1) il ii i

(2 ii in i

3 i iii ii

4 i ii in
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s0. Fiefufas # @ few @l 1 ofemfr § ge

51.

52.

53.

e 7 2

(1) Ureid 1@ WifFe

(2) WUTEIsE FEE T TREeA
(3) UWENH U WuTRise wEA
(4) IERF T Vg ReeiH

fefefgs & @ ®F-w 26H WE o ¥ e B
g9

(1) TFRN

(2) uReaAtE

(3) LIS

(4) TIEREA

frafafga § ¥ SR-H e Ay 89 WS FE T
T ®9 Y g ¥ 9

(1) HEE ARt : YaE U4 ged uREar uiEdt
%1 e = |

. 910 Ug 2 THiersh Tt
1 g At ageti I ugl |

: fongi=m g1 1 IR wE
YA, & T = H
oo e o

: gl b AT I AiErE H
fafm &7 = ovw § Sied
& ofa =1 FrEm w5 |

(2) HE FAEH

(3) ERUREHR

(4) fafsa

A" F H gRest o e g AW ®E W @Ear
22

(1) vEA™ HE ¥ I3 ST g

(2) HEA™ HE ¥ F2 Foet ufiwn g
(3) ot & 9 feet ufvw gre
(4) oTtE & I3 =gl gF
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Which of the following hormones can play a
significant role in osteoporosis ?

(1) Aldosterone and Prolactin

(2) Parathyroid hormone and Prolactin
(3) Estrogen and Parathyreoid hormone
(4) Progesterone and Aldosterone

Which of the following is an amino acid derived
hormone ?

(1) Epinephrine
(2) Estriol
(3) Estradiol

(4) FEedysone

Which of the following structures or regions is
ineorrectly paired with its function ?

(1) Medulla oblongata : controls respiration
and cardiovascular

reflexes.

band of fibers
connecting left and
right cerebral
hemispheres.

(2) Corpus callosum

(3) Hypothalamus production of
releasing hormones
and regulation of
temperature,

hunger and thirst.

consists of fibre
tracts that
interconnect
different. regions of
bram; controls
movement.

(4} Limbic system

The transparent lens in the human eye is held in
its place by

(1) ligaments attached to the ciliary body

(2) smooth muscles attached to the ciliary body
(3) smooth muscles attached to the iris

(4) ligaments attached to the iris

Hindi/English



55.

56.

5T.

58.

59.

Frafafaa uEr faem & eEwn § ¥ 79 oo
T T HI

(1) WFd, I9ES Ud =T % 3R

(2) SFYE, THIES U MY § g

(3) <WFIGE, WA Ud <faT I Afeash

(4) TFISS, NG U9 Sl %1 ged

5 M § west gr deRd TP % HRW W
Tifafe § fereft My Soom Far d 2

(1) ufsRRufE

(2) omifafam

(3) v T

(4) UEhRUfEE

frefafee # @ PR-m Efee o 7 R 2

(1) wiefm

(2) fafefemm

(3) UFATSH IM
(4) TS wftrme

W H WA OEURT F TWH TS UNH  EHAT
Tt 3fg % % g 2 2

(1) faef= D

(2) frfm E

(3) forfm By,

(4) faefm A

fraffan sfreeam & @ 98 7 § Sftw Tt &
e’ i guTd & 2

a. SMIfaa

b.  HESTIREET

c. g 3T

d. 1o gt

e EETrﬁ'—ﬁHSTFTﬁ

(1) b cWe

(2) acWe

(3) b, dUd e

(4) abUWdc

IF HIEH F WUR K AW AT T wHHEA
foreent IgreT B 2

(1) HoTaa

(2) g fafemo

(3) AR fawm

(4) FeIEual
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T @ :'?1 EI’E AR SRACETFOR R OUGEH WERK

Among the following sets of examples for
divergent evolution, select the ineorreef option :

(1) Forelimbs of man, bat and cheetah

(2) Eye of octopus, bat and man

(3) Brain of bat, man and cheetah

(4) Heart of bat, man and cheetah

In which disease does mosquito transmitted

pathogen cause chronic inflammation of
lymphatic vessels ?

(1) Elephantiasis

(2) Amoebiasis

(3) Ringworm disease

(4) Ascariasis

Which of the following is nef an autoimmune
disease ?

(1) Psoriasis

(2) Vitilige

(3) Alzheimer’s disease

(49 Rheumatoid arthritis

Conversion of milk te curd improves its
nutritional value by increasing the amount of

(1) Vitamin D

(2) Vitamin E

(3) Vitamin By,

(4) Vitamin A

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b Co-dominance

c.  Multiple allele

d. Incomplete dominance

e. Polygenic inheritance

(1) b,cande

(2) a,cande

(3) b,dande

(40 a bandec

The similarity of bone structure in the forelimbs
of many vertebrates is an example of
(1) Homology

(2) Adaptive radiation

(3) Convergent evolution

(4) Analogy

Hindi/English



60.

61.

65.

fr=fefan Igati § & FR-8 5q FEEw 787 @ 2

(1) HgeT
(2) R

o

(3) HH¥

(4) =qfhe

ffafas § @ 9w g quand 777 & 2
(1) A

(2) fdger
(3) P
(4) HAT

frafafga & @ FH-8 9w | Sl H 92TH A

FHT Y FAE ?

(1) ¥ IW T8 W Fid1 & AHR H ey A
ufeufa

(2) T i Iufeufa

(3) TR YR ATeSE WiEd 3 UG

(4) TeS IH HI Ui

fr=fafas # @ A3 e ge@ERl § 7E SIS &
TH T I E 9
(1) BRAREE

(2) FESE
(3) WRAEFRET
(4) TETH

faforega o @fi Werier @ e yor Pm # 2

(1) ¥ % fu Hahee w1 =@ e E

(2) TH 3 THR % Hgh B B

(3) I R+ yws & fou wew = wm wa #

(4) o aAfafem oFt ® Femen & forg s
o &l &

FICH! WG & I TGl I TFAH P A A
ureF o3 | i uE e g st #

(1) fesfeEn

(2) oAfEefi

(3) U

(4) Tt
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Which of the following animals does nof undergo
metamorphosis ?

(1) ERarthworm
(2) Starfish

(3) Moth

(4) Tunicate

Which one of animals is mnof a

homeotherm ?

these

(1) Macropus
(2) Psittacula
(3) Camelus
(4) Chelone

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1) Presence of a boat shaped sternuin on the
9% abdominal segment

(2) Presence of anal cerei

(3) Forewings with darker tegmina

(4) Presence of caudal styles

Which of the following organmisms are known as

chief producers in the oceans ?

(1) Dinoflagellates

(2) Euglenoids

(3) Cyanobacteria

(4 Diatoms

Ciliates differ from all other protozeans in
(1) using flagella for locomnotion

(2) having two types of nuclei

(3) using pseudopodia for capturing prey

(4) having a contractile vacuole for removing
excess water

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Amphibia

(2) Osteichthyes
(3) Aves

(40 Reptilia
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66.

6T7.

68.

69.

TR o 6 et fag sow feme et R 0
(1) EREE T8 AW
(2) <EREdl UF Jfawcadl
(3) WEASTRR U USRS

(4) STR<aE] U AEeH

TR % T W@ 5 U o $9-8 FE afa
Rl g ?

(1) hCG, hPL, TR, SifEe

(2)  hCG, IR, TeEIoH, TRIHIEHEE

(3) hCG, hPL, TR OH, TEgH

(4) hCG, hPL, T&eN, fefem, s

mifRgs G’

(1) TR § TEIeH W $I 3Taeg Hdl & ud T8
3 T <Rl Thdl 2 |

(2) TS Wa-Ay MRS R |
(3) THIUDR |

(4) WER § wEeE $ |igd w ded &
STETeart T hel B |

YHIVEFA T YA (Tfiuee) § 2 o=w & 2

(1) YN H IR o §, Tl e d
TG T & |

(2) YN H LT T R, FafE yepe |
WHIAT HT wWE HIRHRIT H IS
Afcrpratt it qige & AeE qaT R |

(3) RN B G w1 wee SRR #
Whors Afcreist 6 e § AeE w2,
Safeh YERITEH H YT S |

(4) YEHNSE H YHY 4 &, a6 WHREE
YIS & § |
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The amnion of mammalian embryo is derived

from

(1) ectoderm and mesoderm
(2) ectoderm and endoderm
(3) mesoderm and trophoblast

{(4) endederm and mesoderm

Hormones secreted by the placenta to maintain

pregnancy are

(1) hCG, hPL, progestogens, prolactin

(2) hCG, progestogens, estrogens,
glucocorticoids

(3) hCG, hPL, progestogens, estrogens

(4) hCG, hPL, estrogens, relaxin, oxytocin

The contraceptive ‘SAHELI’

(1) Dblocks estrogen receptors in the uterus,

preventing eggs from getting implanted.
(2) is apost-coital contraceptive.

(3) isanIUD.

(4) increases the concentration of estrogen and
prevents ovulation in females.

The

spermiation is

difference between spermiogenesis and

(1) In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.

(2) In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules.

(3) In spermiogenesis spermatozoa from sertoli
into the

seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

(4) In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.
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70. UF W &I qgdl g SHEe |
(1) G e S safeedt & o1fes 81 # |
(2) G s T SAfeeH § A Aid § |
(3) %H?m T4 T e gen § S g
|
(4) SFFEH R IR SaTeed] & & B ¥ |
71, T I & e 1 @y 11 1 e @ e Fifg
R 9= feu m faweul # ¥ mEt foeew = WA
$ifsm
@ I R 11
a.  guwm i. UV-B fafem
b. e defea i, T
c. faurum (W smgeE) i W wofg
d. e iv. aafiree foem
a b c d
(1 i i iii iv
2 i ii iv iii
(3) i iv i ii
4 i iii iv ii
72. “Ei%” T 30 UG N & foRm 9 & g BT R 0
(1 FAE
(2 duEi®
(3) A
(4) HFWH
73. fT=fafes 4 @ fafemn fagm o wfedfas & s &
e awfe 6t FF-H treis fe g W@
A B 2
(1) wEnfsa
(2 Al
(3) WRETET
(4) TETHIRET
74. Teafafes § @ 0w SRRam Waw ¥ 777 o 2

-39 THHl Uk
i g%

AP FEH
qfe 39

(1
(2)
(3)
(4)
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In a growing population of a country,

(1) pre-reproductive individuals are more than
the reproductive individuals.

(2) pre-reproductive individuals are less than
the reproductive individuals.

(3) reproductive and pre-reproductive
individuals are equal in number.

(4) reproductive individuals are less than the
post-reproductive individuals.

Match the items given in Column I with those in
Column II and select the eorreef option given

below :
Column I Column IT
a.  Eutrophication i. UV-Bradiation
b. Sanitary landfill ii. Deforestation
c. Snow blindness ili. Nutrient
enrichment
d. Jhum cultivation iv. Waste disposal
a b c d
(1 i i iii iv
(2) i ii iv il
(3) il iv i i
(49 i iii iv i

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Flowers

(2) Leaves
(3) Roots
(4) Latex
Which one of the following population

interactions is widely used in medical science for
the production of antibiotics ?

(1) Commensalism
(2) Amensalism

(3) Parasitism

(4} Mutualism

All of the following are included in “Ex-situ
conservation’ except

(1) Wildlife safari parks
(2) Seed banks

(3) DBotanical gardens
(4) Bacred groves
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5.

T6.

T [ H & 7E Wel w1 T 11 6 Al ¥ e $ifsm
sfr 9= feu o faweul # ¥ mEt fawey = o=@

Hifow

ity Il
a.  TARHEE i Sl § g o
HIE E
b. T ii. 9% # foreefa oo &
fig
c.  gFHE U ii. Tt ¥ wETEwaT

(Tt SheaeTTe )

d. TS gFHIE v, T H THE B AT

a b c d
(1) il i iv i
(2) iv i i iii
(3) i iii i iv
4) i i iii iv

W [ H & 7E Wel w1 T 11 6 A ¥ e $ifsm
sfr 9= feu o faweul # ¥ mEt fawey = o=@

Hifow

&I L
(%7 (3T T FT HFT)
a. feggm e i FR oUW
b. T BT GW i, e
c. TAH AT . TRE
d. TEHEET v, HAun S
v. wHivey wafaad i
a b e d
1) iv v i iii
(2 v iv i iii
3) v iv i i
4 iv i i iii
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5.

T6.

Match the items given in Column I with those in

Column II and select the eorreef option given

below :
Column I

a. Glycosuria

b. Gout

c. Renal caleuli

d. Glomerular
nephritis
a b
(1) il i
(2 iv i
(3 il iii
4 i i

iii.

iv.

c
iv
1
1

i

Column IT
Accumulation of uric
acid in joints

Mass of crystallised
salts within the kidney

Inflammation in
glomeruli

Presence of glucose m
urine

d
1
1l
iv

iv

Match the items given in Column I with those in

Column II and select the eorreet option given

below :

Column I

{Functior,}

Column IT
{Part of Excretory

a. Ultrafiltration

b. Concentration
of urine

c. Transport of
urine

d. Storage of urine

ii.

iii.

iv.

System)
Henle’s loop

Ureter

Urinary bladder

Malpighian
corpuscle

Proximal
convoluted tubule

a b c
(1) iv v ii iii
2 v iv i iii
3 v iv i ii
(4) iv i ii iii
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TT.

T8.

79.

80.

81.

UF T % UF X TR § X-Her 19 ¥ | I8 TR
foprt awTra g 2

(1) Faw gfet o

(2 o ud gt 9N |

(3) Faw drar-wife /- ®

(4) ad g A

% A H BT 9 F H7 AGGTATCGCAT % |

9% g1 STeiigd mRNA W1 Gefid s0 =1 8 2
(1) AGGUAUCGCAU
(2) UCCAUAGCGUA
(3) ACCUAUGCGAU
(4) UGGTUTCGCAT

T 1§ & T Al T 1 I Ael @ e Hifm
R d= o ™ fomedl § @ Tt fawew w1 oww

Hifs

@y [ &y Il
a. YEUGHST YRl i TR AR H fage
b.  @El ST ii. ghm e
c. FHIAHE iii. drafuve wrewen
a b c
(1) il i i
(2) iii i i1
(3) i iii i
4) i iii ii

T & i & ogEn fem Y frafafy few wew
A 2 2

(1) FRO IR

(2) oY Ieuiadd

(3) WfrH 390 U URa (Teursed] fafimea)

(4) WEIH

T W HH-F1 SRR w1 W F@ § 0
(1) TS

(2) IFAED

(3) U=

(4) TEATHS AH
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A woman has an X-linked eondition on one of her

X chromosomes. This chromosome can be

inherited by

(1) Only daughters

(2) Both sons and daughters
(3) Only grandchildren

(4) Only sons

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transeribed mRNA ?

(1) AGGUAUCGCAU
(2) UCCAUAGCGUA
(3) ACCUAUGCGAU

(4) UGGTUTCGCAT
Match the items given in Column I with those in
Column II and select the eorreef option given

below :
Column I Column 1T
a.  Proliferative Phase i. Breakdown of
endometrial
lining
b. Secretory Phase ii. Follicular Phase
c¢.  Menstruation iii. Luteal Phase
a b c
(1) iii ii i
(2 iil i i1
3 ii iii i
4 i iii i1

According to Hugo de Vries, the mechanism of
evolution is

(1) Multiple step mutations
(2) Minor mutations

(3) Phenotypic variations
(4) Saltation

All of the following are part of an operon except
(1) an operator

(2) apromoter

(3) an enhancer

(4) structural genes
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% Ugrwus fFem (RER) # fafafgs & @
PR T F@F B 2

(1) WIEH & g1

(2) wivefafie dwwm

(3) Tha LB F faee

(4) SEH B TSR

FH W HH-T1 HH TAd & 7

(1) TCA =3k % UAREH TIROG] & A9rE] § fEa
B E |

(2) offedienoll BIERRETHE THeT H T
i v afem g )

(3) TRHRIRE 79 7 T & 9 7% 39 BRI
TATE R IBH H T8 NAD fretan wear & |

(4) TEEHIfAEE FilwTEeE § guw ad &

7era faee %1 e Fifa

(1) Wugw PR - fgwg & g

(2) TGUEE T — UFRREE % ITEH
(3) SUHRhE RE — L-ARRRE IO
(4) rEm ~ fom porm

frafafgs & ¥ $9-8 ufonfis e 9Fe e
! aftia i & 2

(1) dedl, fgamedl, aued

(2) e, fgarad, fawwed

(3) dEEd!, THARSA!, TGl

(4) Tredl, foamedl, fawagd

et % five gooa: e TR & 2

(1) WA @ fafue

(2) T TTM T3 RER

(3) —YfFas oA g SER
(4) DNATWE RNA

TFA ¥ TEEEW UTH mRNA & FEg s THAH
yifcrieTse H w5 Wl a0 § | UsEEm BT
STEEATAT I F HEA £ ?

(1) =ggd

(2) i

(3) TeEm

(4) gavn fuve
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Which of the following events does nof occur in
rough endoplasmic reticulum ?

(1) Protein folding

(2) Phospholipid synthesis

(3) Cleavage of signal peptide
(4) Protein glycosylation

Which of these statements is incorreet ?

(1) Enzymes of TCA cycle are present in
mitochondrial matrix.

(2) Oxidative phosphorylation takes place in
outer mitochondrial membrane.

(3) Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atons.

(4) Glycolysis occurs in cytosol.

Select the incorreef match :

(1) Lampbrush — Diplotene bivalents
chromosomes

(2) Polytene — Oocytes of amphibians
chromosomes

(3) Submetacentric — L-shaped chromososines

chromosomes

(4) Allosomes — Bex chromosomes

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Hommodont

(2) Pleurodont, Diphyodont, Heterodont

(3) Pleurodont, Monophyodont, Homodont

(4) Thecodont, Diphyodont, Heterodont

Nissl bodies are mainly composed of
(1) Proteins and lipids

(2) Freeribosomes and RER

(3) Nucleie acids and SER

(4y DNA and RNA

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of ribosomes are
termed as

(1) Polysome

(2) Nucleosome

(3) Plastidome

(4) Polyhedral bodies
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88.

89.

90.

e [ H d 1 " %1 T 11 ) uel @ faem $ifs
3R e fou T faoeedi # ¥ &EF famew &1 W
Fifym -
o R 1T
a. TaEw wue i. 9 31fee w9 e
% &=
b. fEeheme i IfEE fow @ e
A % =
c. oldug wuifew 1. =ifE «ifee w9 @ife
frem & =
a b ]
(1) 1i 1 11
(2)y i 1 i
3 1 i i
4y 1 1ii i
T 1§ & 7E wel %1 w11 6 AE @ e $ifsm
3R e fou T faoeedi # ¥ &EF famew &1 W
Fifym -
T TR II
a. ORE R i. 2500 - 3000 f.=0.
b. SlawEs g i 1100 - 1200 fa .
AR
c. Fizaw gfem iii. 500 — 550 a7,
AR
d. JaEfTe SEe iv. 1000 — 1100 f.=f.
a b ] d
(1) 1i i 1 iv
(2) iv 1ii i 1
3) 1 iv i i
(4) 1i 1 iv i
fr=afafas & @ SF-a1 ooy Ha: o R Ioehife
H gl i 2w &1 IFa ®9 F 2wiaT & 2

(1) Y@ # MY, 9E] Ja8 § S
(2) vEEH gag § HH; 9 § Wy
(3) TEE TaE § 1fiwan @aHe § my

(4) YA 1 wEw § sftekar; W@ A9 #
SAferRan
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Match the items given in Column 1 with those in
Column II and select the eorreef option given
below :

Column IT

Between left atrium
and left ventricle

Column I

a.  Tricuspid valve i

Between right
ventricle and
pulmonary artery

b.  Bicuspid valve ii.

c. Semilunar valve iii. Between right
atrium and right
ventricle

a b c

(1) iii i i1

(2) i i iii

(3 i ii iii

(49 i iii i1

Match the items given in Column 1 with those in
Column II and select the eorreef option given
below :

Column IT
2500 — 3000 mL,
1100 — 1200 mL,

Column I
a. Tidal volume 1.

b. Inspiratory Reserve i

volume

c.  Expiratory Reserve iii. 500 - 550 mL
volume

d. Residual volume iv. 1000 — 1100 mL
a b c d

(1) iii ii i iv

(2) iv iii ii i

3 1 iv ii iii

(49 iii i iv i1

Which of the following options correctly

represents the lung conditions in asthma and
emphysema, respectively ?

(1) Inflammation of bronchicles: Decreased
respiratory surface

(2) Decreased respiratory surface;
Inflammation of bronchioles

(3) Increased respiratory surface;

Inflammation of bronchicles

(4) Increased number of bronchioles;, Increased
respiratory surface
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92.

95.
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98.

gftia THT TURET BT quwR fhe s § oTRey

FT 2 ?

(1) TEvE

(2) JWug

(3) URfeERH

(4) fogug

Fiew » fou Fefofee d asmaadi 8 2

(1) fonfm 2 Sifiemsi a2 sRs dn §

(2) 9% TEEEME RNA Hy@W %1 framsfie T
B

(3) ¥F TH & H 9N T F |

(4) mEhfvaPomae

4t & fasfiear pad waifem 727 &1l 2
(1) o9HHE ¥

(2) CO, ¥z d

(3) O, Tz &

(4) TR Y
frfafas § @ S99 w5 Hogh 78 2 2
(1) IF0aIET

(2) ffEcRar

(3) TrCRE

(4) AEFREIRTE

frefafas & @ S99 @ THE-EETT H THE
SAfufsrn w1 Ieue FFF R 7

(1) ATP

(2) Oxygen

(3) NADPH

(4) NADH

TEH T AT PG E ?
(1) TEARPR

(2) BITHHR

(3) SHATHR

(4) TFHHR

et Wiy fram s Sar 2 2
(1) 61 A % AEe §
(2) W e % afsrem |
(3) Samet § wed 5

(4) o gewstt % e |
o % g arfireafirn wrafee T HA-E E 2
(1) Fsgieas IR Afve
(2) HEHA IR FRGIFAA
(3) HEIA IR BREHe

(4) HEIFS IR AR
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The stage during which separation of the paired
homologous chromosomes begins is

(1) Pachytene

(2) Zygotene

(3) Diakinesis

(4) Diplotene

Which of the following is true for nucleolus ?

(1) Larger nucleoli are present. in dividing cells.

(2) It is a site for active ribosomal RNA
synthesis.

(3) It takes part in spindle formation.
(4 Itis a membrane-bound structure.
Stomatal movement is not affected by
(1) Temperature

(2) CO, concentration

(3) O, concentration

(4) Light

Which among the following is nof a prokaryote ?
(1) Saccharomyces

(2) Oscillatoria

(3) Nostoc

(4) Mvycobacterium

Which of the following is nof a product of light
reaction of photosynthesis ?

(1) ATP

(2) Oxygen

(3) NADPH

(49 NADH

Stomata in grass leaf are

(1) Dumb-bell shaped

(2) Barrel shaped

(3) Rectangular

(4) Kidney shaped

The Golgi complex participates in
(1) Fatty acid breakdown

(2) Activation of amino acid

(3) Respiration in bacteria

(4} Formation of secretory vesicles

The two functional groups characteristic of
sugars are

(1) hydroxyl and methyl
(2) carbonyl and hydroxyl
(3) carbonyl and phosphate
(4) carbonyl and methyl
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104.

u forsft e grn e 1 v 99 fee w1 W
(werear) Topa T o, T U foeed wiRa # @ @
¥ foemm & | 98 fru@ aafm 2 0

(1) Co-667

(2) g

(3) oW U=

(4) W& FERT

#gt goa wi g

(1) TEEEH -
(2) . #ew -
(3) AT AE L

(4) Fox oW o6 —  Tgoe »id

HHE TN § T, % TH ghe * HavH & g
frafafas & & S99 J9e am=m: e fen S
22
(1)
(2)

~fFT o
TR

CEEE (W 9T5E)

pBR 322

(3) AHM

(4) TiweHe

s M & fo sTEfea: waia StEl %
T o 91 H T & oA & 0 MR # HE-a
TS IR & ?

(1) R ARFERH AgE9H qReg (ICMR)

(2) SAERRS ARG e Gt (GEAC)
(3) SR ufterem siEu™ |fufe (RCGM)
(4) TS U@ eiefie agEas Tiwe (CSIR)

vifewRs JEen e (PCR) § =AU &1 @@l 0
FME?

(1 oo, fospdiamu, s

(2) fapdemo, siem, o

(3) famdemo, fawww, srfiem

(4) e, faemw, fagdem

TR HfE R wre ga R 3w oa =S
Wi 1 o oTgefta & SaEEeE % IWEm B F
HET AR ?

(1) A9-3g=F
(2) Sg-9m

(3) Ig-3UHeA

(4) TEOEET (39 =)
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A mew’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(1) Co-867

(2) Basmati
(3)
(4)

Lerma Rojo

Sharbat] Sonora

Select the eorreef match :

(1) Ribozyme — Nucleic acid

(2) G.Mendel — Transformation
(3) T.H. Morgan — Transduction
(4) FyxRecessive parent - Dihybrid cross

Which of the following is commonly used as a
vector for introducing a DNA fragment in human

Iymphocytes ?
(1)
(2)
(3)
(4)

Retrovirus

pBR 322

4 phage

Ti plasmid

In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

(1) Indian Council of Medical Research (ICMR)
(2) Genetic Engineering Appraisal Committee

(GEAC)

(3) Research Committee on Genetic
Manipulation (RCGM)

(4) Council for Scientific and Industrial
Rosearch (CSIR)

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(1)
(2
(3
(4
Use of bicresources by multinational companies

and organisations without authoerisation from the
concerned country and its people is called

(1
(2)
(3)
(4

Extension, Denaturation, Annealing
Denaturation, Annealing, Extension
Denaturation, Extension, Annealing
Annealing, Extension, Denaturation

Bic-infringement
Bicexploitation
Biodegradation
Biopiracy
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T W e E) E 9

(1) @@

(2y E7H

(3) M

(4) TEHE

frfurfn & & fore Smaerm @ oredRpfifnTe
% ugeITg, Sy Sfesia w9 4 3o A E 0

(1) =i

(2) @F0mdiy

(3) wiRHH
(4) SeeRT

Frfafes § ¥ SH-91 7777 &9 | gAME € 2

(1) UhHANS WD —  FOIGRHHT

(2) UHHIRF A9 -  FReT

(3) S g - TR

(4) Tepmhes s — o 9

e [ ° & T A W W 11 e ¥ e Sifsm
sk = fou o fawedt § ¥ @ faweu &1 =9
$ifom -

L Ry Il
a. UEWEE i uiwiea 9Ed eiR segel %
TR B T M |
b. P i, T e H Ul W @i it
w1 fafegdes e #d 7Y oiv
S TEEE H1 Al % g
|t v A gU TS g
c. WEWR i U M 9 IR o el
FEA S @ T T
RITYE X T@ A ¢ |
d I!‘alﬁﬁl iv. qmgi@xaalﬁaﬁamﬁﬁ@
(Feret) ¥R 3% fapeu g1 E
fafim el 6 ugem wE |

HEAE B # |
a b c d

1 i v i il
(2) #i v 1 i
3 i v i i

(4) #i i i iv
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Winged pollen grains are present in
(1) Mustard

(2) Pinus

(3)
(4)

Mango
Cyeas

After karyogamy followed by meiosis, spores are
produced exogenously in

(1)
(2)
(3)
(4)

Neurospora
Saccharomyces

Agaricus

Alternaria

Which one is wrongly matched ?

(1) Uniflagellate gametes — Polysiphonia
(2) Unicellular organism - Chlorella
(3) Gemma cups — Marchantia

(4) Biflagellate zoospores — Brown algae

Match the items given in Column I with those in
Column II and select the eorreef option given
below :

Column I Column IT

a. Herbarium i. Itisa place havinga
collection of preserved
plants and animals.

A list that enumerates
methodically all the

species found in an area

b. Key ii.

with brief description

aiding identification.
c¢.  Museum iii. Is aplace where dried and
pressed plant specimens
mounted on sheets are

kept.

d. Catalogue iv. A booklet contaming a list
of characters and their
alternates which are
helpful in identification of
various taxa.

a b c d

10 i iv iii i

(2) iii iv i i

(3 il iv il i

(4) iii ii i iv
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HINEHR T8 H NAD* 1 sfispT 71 8 2

(1) 98 Th T-H & &9 H H1 I 8 |

(2) ggaamaﬁaw%maﬁnsﬁa;ﬁm
|

(3) ;gq.ﬁ.ﬁ.mﬂw%mwmm
|

(4) IR TH LA qEH & 1 A HE A 2 |

forms epTor-Twetyw § Sifefie 72T e ?

(1) I TR Tt

2 37

(3) TEHA

(4) TS

I R w0

(1) Th WA Tl & T R JHS & 3 R o=@ &
T TR

(2) TS ToEd IR BEeE

(3) TR GHB] F TH Jg F 1Y HoreH

(4) TS R IWH B 4 19 H5hl & A T

U gRT W18 %1 Aawww frafafias § @ few wv 6

TR ?

(1) B

(2) %R R W 2H

(3) g dd

(4) W&

frafafgs & @ w9 o9 SRR § w6ife U

W % foru e 2 2

(1) AR

(2) Piewm

(3) diehrm

(4) wifsEm

frafafga & @ ®9-91 dy yow $ T Il F qy
ta fpe @ g B, fored ®% off veg@ &
AT Sfiae = IO 7@ B dwal ?

(1) FElRe

(2) FEFeT

(3) e

(4)  FFHI

WM F H1 qga | a6 % fw 5@ Amgem § e
A TR VSRY FRET S Wehell B 2

(1) -120°C

(2) —160°C

(3) —196°C

(4) —80°C
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What is the of NAD' in cellular
respiration ?

(1
(2)

role

It functions as an enzyme.

1t is the final electron acceptor for anaerobic
respiration.

(3)
(4
Oxygen is nof produced during photosynthesis by
(1)
(2)
(3)
(4)
Double fertilization is

(1

It is a nucleotide source for ATP synthesis.
It functions as an electron carrier.

Green sulphur bacteria
Chara

Cyeas

Nostoc

Fusion of two male gametes of a pollen tube
with two different eggs

(2)
(3
(4)

Syngamy and triple fusion
Fusion of two male gametes with one egg

Fusion of cne male gamete with two polar
nuclei

In which of the following forins is iron absorbed
by plants ?

(1)
(2)
(3)
(4)
Which of the following elements is responsible for
maintaining turgor in cells ?

(1)
(2)
(3)
(4)
Which one of the following plants shows a very
close relationship with a species of moth, where

none of the two can complete its life eyele without
the other ?

(1) Hydrilla
(2) Viola

(3) Banana
(4)
Pollen grains can be stored for several years in
liquid nitregen having a temperature of

(1) —120°C

(2) —180°C

(3) —196°C

(4) —80°C

Ferrie

Both ferric and ferrous
Free element

Ferrous

Magnesiumn
Calcium
Potassium
Sodium

Yucca
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Frawn g9
(1) = % = | af 3 e

(2) Qﬁﬁgaamﬁwéﬂéwﬁ%r qfie1, @l 98
&

AUIH T 9% WE Sl o9 B T % fou
RllE

(4) 9% ifow W 75 v Ao wa

fafafer 4 8 wh-a o fidos s 8 2
1y CO

(2) Oy

3) S0,

4 CO,

fawa <iim fea@ &= TR & 2

(1) 53

(2) 22

(3) 16 TRmrR

(4) 213

THaHEe d, oM % faodemm ofR anfies
sfedom & fogfm & frofafee @ & =@ o=
IEAF % T H FE HEI R ?

(1) HEA

(2) Sl

(3) Fe

(4) Cl

fFrefafae wiwst @ fom wor =1 uifcafede R
area feram ST 2

fodfiae U=t - 120 g
TeIfhes T ; 60 g

TeIfhe IEH ;10 g

AU 1 3ol RS

ST &1 Hiar RS

(3) TEA %1 o fRfus

(4) Fa1 %1 RS

Feferdt & v from 8 2

(1) TOH
(2) UH AW § e & AW Il 1 &7

(3) A HI Bigd I AT H FEA
(4) THI

(3)

(1
(2)
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Nicheis
(1) all the biclogical factors in the organism’s
environment

(2) the functional role played by the organism

where it lives

(3)

the range of temperature that the organism
needs to live

(4)

the physical space where an organism lives

Which of the following is a secondary pollutant ?
(1) CO

(2) Oy

(3) B0,

(4) CO,

World Ozone Day is celebrated on

(1) 5% June
(2)
(3)

(4)

22”4 April
160 September
21% April

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1)
(2)
(3)
(4)
What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g

Carbon
Oxygen
Fe
Cl

Primary consumer : 60 g

Primary producer : 10 g
(1)
(2)
(3)
(4)

Natality refers to

(1) Deathrate

(2) Number of individuals entering a habitat
(3) Number of individuals leaving the habitat
(4) Birth rate

Inverted pyramid of biomass
Upright pyramid of biomass

Upright pyramid of numbers
Pyramid of energy
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128,

frafafae & @ S9-w wm % SfawA % ® oF

uiRfm F | wEES Aifed goT ?

(1) wm e

(2) RS

(3) o oTEEE

(4) AW TAT 5 A

fafafes 4 @ ST gw 777 S gAfm & 2

(1) W H S WO ; Wgfamed!

(2) .= GE ;W

(3) XOw*r fom fukm : feggr

(4) ABO W TE : wEmTfed

HeT g =l g

(1) TeRh ShE — QEHIFE JEA]

(2) WFETE e qY] A9d TS — &% AN

(3) Tey HoEd 3R UH. WEA — TR Jeras

(4) ks R Wi =w - Al

frafafaa & @ forad 3o Sfieq #@ § Faa @ IR

AU T R 2

(1) i\ wiiefis

(2) Tt

(3) MW

(4) HEd

wﬁmﬁgﬁq:

(1) “TEewar w5e %1 Faw Bl wEa |

(2) URGHHY HI G TH. TeeHH = i off |

(3) TEEREEN THRY § 9 e §

(4) e T w fefew aomfe g fasfm fomm wn
o |

‘Himdza fraeh grT Ieurfad B # 2

(1) e fovem gro

(2) AYHITH gR

(3) ANYFEET gRT

(4) T fovea gr

AT & Adared sfaple w1 yEife W\ wEnem
TorEr ST T o ?

(1) FEHH

(2) fawmp

(3) e H
(4) famy &
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Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Pollenkitt

(2) Sporopollenin

(3) Oil content

(4 Cellulosic intine

Which of the following pairs is wrongly

matched ?

(1) Starch synthesisin pea Multiple alleles

(2) T.H. Morgan Linkage

(3) XO type sex Grasshopper
Determination

(4) ABO blood grouping Co-dominance

Select the correef match :

(1) Alec Jeffreys — Streptococcus

prneumonice

Francois Jacob and -
Jacques Monod
Matthew Meselson -
and F. Stahl

Alfred Hershey and
Martha Chase

(2)

Lae operon
Pisum sativum

(3

(4) ™V

Which of the following flowers only once in its
life-time ?

(1) Bamboo species

(2) Papayva

(3)
(4)
Select the correetf statement :

(1) Franklin Stahl coined the term “linkage”.
(2) Transduction was discovered by 3. Altman.
(3)
(4)

Mango
Jackfruit

Spliceosomes take part in translation.

Punnett square was developed by a British
scientist.

Offsets are produced by
(1
(2)
(3)
(4)

The experimental proof for semiconservative
replication of DNA was first shown in a

(1)
(2)
(3)
(4)

Meiotic divisions
Parthenogenesis
Parthenocarpy

Mitotic divisions

Fungus
Virus
Plant
Bacterium
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130.

131.

132.

133.

134.

135.

7T FYE B gE
(1) washi R 91EU G & wE= 0w

Juftia 2t 2 |

(2) A W B ot Saemd H it #§
YRR, Th e & |

(3) TREIHE # Ry 9ve SR @F %@U =
T # |

(4) BIH o A=Y Ml I

HEr ufgar wal gt E 2

(1) STeked=n

(2) oAl

(3) Tope

(4) ufwy

feafsfmda s s=F 7gt 2 2

(1) FEadtE | duwe svemm fifw grr ufeg
T B

FEHY SR fgd oM B WTEREE o STeiEd
B E |

Foien et ¥ |

fefar tw Rwmde 9en §, S&h
Feaifa T THEIA qT R |
Yae-ge fored 7t # 0

(1) TErRRRE |

(2) W SAghg |

(3) WIATER Ryl §

(4) TEEI-IeAES AagE |

e foraeh! T B 2

(1) w0

(2) W

(3) HE A
(4) oTTRITHS A

Tt @ o fodaes TRem iR Wi fFad o=
T 8 2

(1) ier faysan

(2) i v

(3) A

(4) Ha&E THl

a7 urgy -8 § fore et gfg ofidh an faegpen
gt 2
(1)
(2
3
(4)

(2)

(3)
(4)

k2 10)

s|‘|sil;3u
PR
TUTAT! ST S

LAACH/QQ/Page 29

129.

130.

131.

132.

133.

134.

135.
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Select the wrong statement :
(1)

Cell wall is present in members of Fungi
and Plantae.

(2) Mitochondria are the powerhouse of the cell

in all kingdoms except Monera.

(3

Pseudopodia are locomotory and feeding
structures in Sporozoans.

(4)
Casparian strips occur in
(1)
(2)
(3)
(4)

Mushrooms belong to Basidiomycetes.

Epidermis
Endedermis
Cortex

Pericycle

Which of the following statements is eorrect ?
(1) Ovules are not enclosed by ovary wall in
gVmnosperms.

Stems are usually unbranched in both

Cyeas and Cedrus.

(2)

(3
(4)

Horsetails are gymnosperms.

Selaginella is heterosporous, while Salvinia
is homosporous.

Pneumatophores occur in

(1) Halophytes

(2) Bubmerged hydrophytes

(3) Carnivorous plants

(4)
Sweet potato is a modified
(1) Stem

(2) Rhizome

(3) Taproot

(4)

Free-floating hydrophytes

Adventitious root

Secondary xylem and phleem in dicot stem are
produced by

(1
(2)
(3
(4)

Plants having little or no secondary growth are
(1)
(2)
(3)
(4)

Apical meristems
Axillary meristems
Phellogen
Vascular cambium

Grasses
Cycads
Conifers

Deciduous angiosperms
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136. foedt Fietrw gro fafeka wfem P R @ w7 e,

Ay W HAUHan St fafeia wet &8 | o@ IR W
Histe! H1 a9 uiEfda & e e 2, e fE 9w

%xoaﬁﬁsémaﬁwaﬁﬁﬁ%ﬁaaﬁﬁ%,?ﬁ

Eﬂ%ﬁmﬁ%ﬁﬁﬁTﬁHnP'@fﬁﬁﬁ%I n %1 7H g

1w 3
4
81
256
@

81
4

4) -
3

(2)

(3)

137. 31 97 GAE T2 % = € o 3 % e off e

# | TR AR F SAIT-FRE F ETEA A R T W
H FATI-FE FT FT%A 3A R | A T F TR
TR aR I TR # Al I g H IET B, T W AR
1 o 7 o gt @ 9fg w9 % o Bee w@ A
HATETIHAT B ?

(1 9F
(2 F

(3 4F
(4 6F

138. MR T (1-013 x 10° Nm™2) &R 100°C 99 W

01 g 9 % T HI 100°C HI ¥y & vfEfda = &
g 54 SEAG S FA H AEEHA qW 2 | AR
399 WY BT A™G 1671 cc &, A1 W T H
ST Sl § UREa ]

(1) 1043J

(2) 845J

(3) 422J

(4) 2087J

139. frsam v %1 ®ig @Y e formmaen @ fHedt wm gg A

firdr % | ©F 9 % SR 3EY ST I9F BT B
T & ifm (fiFE) a1 wm Fuw o HB =
forrferfiaa 3 @ formeh STATTE B & 2

@ rt

3 1

(4) r?

LAACH/QQ/Page 30

136. The power radiated by a black body is P and it

13T7.

138.

139.

0 W R e Sy . GOV TEE
T @ :'?1 EI’E AR SRACETFOR R OUGEH WERK

radiates maximum energy at wavelength, A,. 1f
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength 3 Ay, the power radiated by it
becomes nP. 'f'ihe value of n is

3
(1) y
ﬂ
256
256
81
4

49 -
3

(2)

(3

Two wires are made of the same material and
have the same wvolume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much foree is needed to stretch the second
wire by the same amount ?

(1) 9F
(2> F

(3) 4F
(49 BF

A sample of 01 g of water at 100°C and normal
pressure (1-013 x 10° Nm_z) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 1671 cc, the
change in internal energy of the sample, is

(1) 104-34d

(2) 845J

(3) 422J

(4) 2087d

A small sphere of radius T’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous foree. The rate of production of heat

when the sphere attams its terminal velocity, is
proportional to

e
(2) r
(3)
4

4

5
r
r2
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140. H1§ Foige formewen ¥ frd THemH T SR H

141.

142,

SAMM REATEA S 1 g, h, frar } | o=
fogE-89 ®1 uRwm ofafda W@ wU gEel faEm
Iohma W A I} | TR Wl @ e &
T & TR g h @ 3o e fem s | WRE
% fim 4 forw T T 6 gorn @ see gr e |
foram e oo 2

(1) =H

(2) 9HH

(3) 107FN ST

(4) 5T sIfas

B WAH TH HIHI S W H B0 § Aeh & 3R
WA ST S i ¥ifa goa &9 F oA afy =
w2 | uen e & 5 m Hr g W 58 T B
T 20 m/s® & | T HT AFAH &
(1)
(2)
(3)
(4)
Ry Q  foret fagma Taw dfgew @i ¢ #
BB A TTeft Tig B ufgemadt % e fRR-dem T
(1) ufgwrear & &= 6 gft W i T =
(2) ufgwmedi % €= 6 gh % Feraa B R |
(3) %Egaﬁ%aﬁaﬁaﬁ%mﬁﬁéaw
|
w%aﬁaﬁa@%?ﬁgﬁ:w
el

2ns
1s
28

ns

(4)

143. Tt wfa e o1 swm 5 T wiw i afaer d

PR IR B H g fmn wen 2, o 9y @
$ TR B TREd] e grn wuEifsa feen s awar
%1 27°C F9 M W T@Y H TEE 20 cm IJR
73 cm FN W T FATTE AT IO AG £ | I @i
s &1 omgf 320 Hz &, 91 9 § =& &1 27°C W
Cul
(1)
(2)
(3)
(4)

330 m/s
300 m/s
350 m/s
339 m/s
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140. An electron falls from rest through a vertical

141.

142,

143.
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distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1
(2)
(3
(4)

smaller
equal
10 times greater

5 times greater

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s® at a distance of 5 m from the mean
position. The time period of oscillation is

(D
(2)
(3
(4)

2ns
1s
2s

ms

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge @ and area A, is

(1

independent of the distance between the
plates.

(2) inversely proportional to the distance

between the plates.

(3) proportional to the square root of the

distance between the plates.

(4) linearly proportional to the distance

between the plates.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 330 m/s
(2) 300 m/s
(3) 350 m/s
(40 339m/s
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144.

TESRE T H fRf dr wen § Rl el f
T Sl i FEH Pt Sl Bl S BT B

1y 1:1
(2) 1:-2
3 2:-1
4y 1:-1

145. 59 55 a1 % yo W amER 2y, (FE v, TEA

Tafer 8) 1 TR AU HA B, 91 Ie@fra g
1 HAfHaH 9 v, & | 99 Amfaa fafer & gl
TE by, W & M B, 1 I T8 ¥ Ie@fia
SeagHl b1 HARHaH A v, BT R | vy dR vy F
I ¥

(1)
(2)
(3)
(4)

[ SR
S

146. Tt Heafdes wgef it ard-amg 10 fime 2 | AR}

147.

sy § ittt wEE 600 8, @ 450 TifNRT %
fomfea 29 # o 9men wmg (ee #) 2

(1) 20

(2) 15

(3) 30

(4) 10

AR W Vo= Vi (v, > 0 o FEH m
w1 T o e REReT E = - By |
(B, = 0% > 0) 7 t = 0 W 79 & ? | IR ¥
# 39 3oaE B SRS TR A, B, WAt W
T Q- e gl

Ao
[1+ﬂt]

mVy
Ao
Aot

(1)

(2)
(3)

ek, t}

mVO

4 Ay {1+
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144.

145.

146.

147.

7 WX ANTS IR GO TTEeT
T ek TG R 1 SPAGE FOR O GHWORK

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

(D
(2)
(3
(4

01

=2
=1
=1

= b =

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy;. When the frequency of the incident
radiation is increased to 5y, the maximum
velocity of electrons emitted from the same plate
is vy. The ratio of v, to v, is

(1 1:2
2y 2:1
3 4:1
(4 1:4
For a radicactive material, half-life is

10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

1 20
(2 15
(3) 30
(4 10

An electron of mass m with an initial velocity
;: =V, i (Vy > 0) enters an electric field
E = - Eoi\ (E, = constant > 0) at t = 0. If Ay is
its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

Ao
[1 + eE—Ot}

mVy

Ao

(D

(2)
(3

@ A {1 + 2o t}
]]].VO
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148,

149.

20 mH HT H§ WH, 100 uF H1 HI§ TS 797 50 Q
F1 HI§ TS, f9.91. 96 (emf), V = 10 sin 314 t
% fot g & oot & wenfom € | 5@ ufmy § o
GRR
(1)
(2)
(3)
(4)

0-5 kg m™ Wi §HE TR goEAE i fE g A
gifas B8 & T e oFa 9@ W A afes ¥ 30°
HT DIV 0T ], T@ T B | 9 B B 390 A
T FaRd et = @3- 781 oo i1 99 38 W
0-25 T R %1 TIHW &7 Frare o § & | @
2 | 93 & fBr = % fou sod varfee a7

(1) T14A

(2) 11-32A

(3) 14T6A

(4) 598A

OTOW
1113 W
2T4W
043 W

150. feft forem-g=s® & ¥ai & €= Yogedm el 6

% Tad] 9% S @ } | 99 fogg-gEe ¥ 9w
YaTfga & T 8, 91 98 93 A0 TEHH & d TR
SR HI AR ghd & Tl & | 39 THR I8 B€ [eed A
Teufes =t g el 2 1 v wE % foe saves
HE HA 2

(1) foegq @

(2) e fogg-sm T £ iad b 87 3 s
a3

Bg & TErd I AT T

JrEh &

(3)
(4)

151. e =t Fuesht feaandier 61 a/n gwfedt 5 divmA

3TR dreedl gufRdl (Fgaa $HI§ dleedl ¥ IoTR HIOH
fag) 20 divv 2 | 30 AeaamTer %1 o 2

(1) 40Q

(2) 500Q

(3) 250Q

4) 25Q
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148. An inductor 20 mH, a capacitor 100 uF and a

149.

resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is
(1) O079W
(2) 1-13W
(3) 274 W
(4) 043 W

A metallic rod
0-5 kg m™ is lying horizontally on a smooth

of mass per unit length

inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induection 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) T14 A

(2) 11-32A

(3) 1476 A

(4 B98A

150. A thin diamagnetic rod is placed vertically

151.

7 WX ATS I GO TTEeT
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between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
The work

gravitational potential energy.

required to do this comes from
(1)
(2)

the current source

the induced electric field due to the
changing magnetic field

the lattice structure of the material of the
rod

(3

(4) the magnetic field

Current sensitivity of a moving coil galvanometer
is 5 divvmA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 40Q
(2) 500Q
(3) 280Q
4y 25Q
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152. U 39 Tl @ed W H ¥ | @ed fe § a5 6

AR Tfas ST (K) 5 arg-ar qofl wias S
(K oft 2=t & | Tt % oW K, : (K, + K,) %1 31U
g
(1)
(2)
(3)
(4)

7:10
2:8
10: 7
5:7

153. % S oI defavh wen & wREE TE 6 RufE

A, B 3R C W Tfast S e Ky, Kg 3R K § |
AC @ 19 ® won @@ 1 ffe § w 8B feagem &

AFACRHR O R | 7=

(1
(2)
(3)
(4)

Ka <Kg < K¢
Kg > Ky » Kp
Kg <Kj < K¢
Ka > Kg>Ke

154. AR T F TR — T A T W e

fer® afmmr 7 10 T &, @ frefafes § @ SR
TR

() et 3 e o A @ R

(2) yeft W g% AW F ufted T g o

(3) YAt T WS AT Bl AR FH 2 AGH |
(4) o T =ern rfis HieT &1 s |

155. 1§ 31 TS goa AN § oo gafufa o1e % i

T T W PH W W/ R | 59 A HT EE GEH
@ 70 e P d afg oo | T F fm
frafafas § @ SR-a ifes afe f@r = f 2

(1) i Fw

(2) i FET

(3) eoff weferst wtf

(4) Ed A
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152. A solid sphere is in rolling motion. In rolling

153.

154.

motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy

(K)) simultaneocusly. The ratio K, : (K, + K) for
the sphere is

(1) T:10

(2) 2:5

(3 10:7

4 5:7

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
Ka
axis and BB is perpendicular to AC at the

Kg and K, respectively. AC is the major

?

position of the Sun S as shown in the figure.
Then

(1
(2)
(3
(4

K< Kg<Ke
Kg> Ky >Ke
Kg <Ky <Ke
Ka>» Kg>Ke

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1) Raindrops will fall faster.
(2) ‘g on the Earth will not change.

(3) Time period of a simple pendulum on the
Earth would decrease.

(4} Walking on the ground would become more

difficult.

155. A solid sphere is rotating freely about its

0 W R e Sy . GOV TER
T @ :'?1 EI’E AR SRACETFOR R OUGEH WERK

symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1
(2)
(3
(4)

Angular velocity
Angular momentum
Rotational kinetic energy

Moment of inertia
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156. SUadHi® 4 I uge % fodl @Waw ys W BR

gfaa Yo 9g ¥ ved WA | | fedr fasw
MU B T R I G W fE wEfda fwe oiR
wafda T TH-gm % e & | Freffen § &
F-a ooy sa ffa A wdr 2 2

waEfde YW gRa } ot suw fagg afw

T9aT % T & THRH B

i=tan™! (lj
n

i = sin-1 (l]
n

Wafdd FHm g 8 o saw fogq afew
S o o & wreq 8

(1)

(2)

(3)

(4)

157. MF g wm A, ffai s o ywea d, 2 mm R

a7 f5rf @ ud 1 g D H 100 em WA T AW
A = 5896 A % YT 1 I AT TR R | AE 4R
wn o it 1 wIviE <fel 0-20° 2 | a9 (ST A SR
D % fore) fist 6t wivi =iers TG 0-21° FH

& fore fafat & 69 % gareT 1 e &
(1) 18mm
(2) 17mm
21 mm

(3)
(4)

1-9Smm

158. et wiiefla stuadi Qe 1 ivi e stfes

iR wrfE fades 3= gw, Ik s ahnws 79
wHE 50 HH ol =W F9T ]

B gl FH i W Biel B

wHE g0 A o =mw 93T R

HH gt At T A B R

(1)
(2)
(3)
(4)
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156. Unpolarised light is incident from air on a plane

157.

158.
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surface of a material of refractive index u’. At a
particular angle of incidence 1’, it is found that
the reflected refracted rays
perpendicular to each other. Which of the

following options is correct for this situation ?

and are

(1) Reflected light is polarised with its electric

vector parallel to the plane of incidence

1 =tan_1(lj
1L

. . 4(1}

i=sin |—
1L

Reflected light is polarised with its electric
of

(2)

(3

(4)
vector perpendicular to the plane
incidence

In Young's double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the sereen and slits is 100 em. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to
(D
(2)
(3
(4)

1-8 mm
1-Tmm
2-1 mm

1-Smm

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1
(2)
(3)
(4)

small focal length and large diameter
small focal length and small diameter
large focal length and large diameter

large focal length and small diameter
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159.

160.

(47 + 4-T) kQ Ffate & fHe Hea-aferias |/, vwa=
% forg, faftm auit % go oifes feu o & | T #i
T 36 B

(1) Sl — diem — R - =t @

(2) & -0 - FEH - g

(3) W - - S -G

(4) dET — Sl — TR —=id T

v’ FEwm Sferiusi w1 ag=a, e v & sy
R R, oofsen § 49199 (emf), ‘B @R AR
oy, R B i i dmmfme (O ad
qRT 1 ¥ | 9@ 1 o’ SRS S e %A § 3@ ¥
T I (AR adiEami0 I B
AR R | 0 HIAE R

(1) 10

(2) 9

(3) 20

) 1

161. ®R 0 Taies 9ol ¢ 9w, Juisee § e, o

aon ¢ (F@m n uiEdi R) o R | b B
el 1 U Wk O 1 A T R | o e
HH-A WE 1 31 n F = T 999 I q@iar 2 ?

I f——
@ *f
0 —n
I
(2) T
0O —n
I
(3) T
(4] —>1
I
4) T
0 .
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159. A carbon resistor of (47 + 4-7) kQ is to be marked

with of different its

identification. The colour code sequence will be
(1)
(2)
(3)
(4)

rings colours for
Violet — Yellow — Orange — Silver
Green — Orange — Violet — Gold
Yellow — Green — Violet — Gold

Yellow — Violet — Orange — Silver

160. A set of m’ equal resistors, of value ‘R’ each, are

161.

7 WX ANTS Iy - C O TTEeT
T ek TG R 1 SPAGE FOR O GHWORK

connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I.
Now, the n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of 'n’is

(1
(2 9
(3)
(4)

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance T’
The
terminals of the battery are short-circuited and

each) which are connected in series.

the current 1 is measured. Which of the graphs
shows the correct relationship between 1 and n ?

—

O —n

(4] —>»Il
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162. TRE ¥ 9T 18R $91§ h & ujuRfag 9o & ofew | 162. A body initially at rest and sliding along a

form o1aen ¥ W TN #E fivg, WM AB =D % gli"tii‘fnless) t_raci‘ fr"mlat height }ll_t_(a:l S}{"“in H}
: A e figure) just completes a vertical circle o
T HI I3 T L h 2Rt diameter AB = D. The height h is equal to
B B
h 0, h -
| : | .
A A
@ 3p 3
5 (D ED
&
(2> =D 5
4 (2) ID
T
= T
3) 5 D (3) ED
163. 7 fuvg, A : (TH @ 7e), B : (W :]‘E‘E“ JOFRR [ 163, Three objects, A : (a solid sphere), B : (a thin
whdl) a9 C : (T AR Bgl), o we w circular disk) and C : (a circular ring), each have
ZqHE M @l a1 R 2, 9F S0 91 o & ST the same mass M and radius R. They all spin
iy sl % ofE: U R @ § | = e § with the same angular speed @ about their own

5 gsyminetry axes. The amounts of work (W)
WH % fom fhy I A s W) & form required to bring them to rest, would satisfy the

PN G TE ] ? relation
(1) We>Wg>W, (1) We>Wp>W,
(2) Wo>We>Wp (2) Wo>Wp>Wp
(3) Wg>W,>Wg 3 Wp>W,>We
@) Wy>Wg>We (4) Wp>Wp>We
164, Brefofan § § - B omeT 2 0 164. Which one of the following statements is

incorreef ?

(1) wef T I‘Htﬁ T ﬁﬁm MR (1) Rolling friction is smaller than sliding
(2) adf guu g i fomrd wraTg B o % wEE friction.
B R | (2) Coefficient of sliding friction has
(3) =N TN e T 1 o e B | dimensions of length.
(4) s wu #1 e o9 e R S (3) Frictional force opposes the relative motion.
STISHHTTAT BT R | (4) Limiting value of statie friction is directly
165. TEHE m H Teh TG9S [Ehl, 4m Fo0H & Tt proportional to normal reaction.

E@i R ﬂza; 3 HE@ a2 | HE@ ¥ TYT B 165. A moving block having mass ni, collides with

. another stationary block having mass 4m. The
IS foRm o & on W B | AR w0 Tesh lighter block comes to rest after collision. When

R 97 v &, d T U (e) ST AM ERT the initial velocity of the lighter block is v, then
(1) 05 the value of coefficient of restitution (e) will be
(2) 04 (1) 05
(4 025 (3) 08

(49 025

O W X ATTS U Y. Con T Iee!
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166. w1 T -grashim wn frel mem 8 3 vevia

H R E 2| el aw s fagmogeda w®@ w5
foga-e9 o +y a9 % o gew ? | @

TR T % e 8 e i faem &
(1) —zfasm
(2) —xTem
3 —yfem
(4) +zfem

167. ot fen % verd %1 svadie V2 o fisn &1 s

30° 2 | 5w % ) ovEds TSI W ¥ UH H A
st i H R T T T ] | W wE
TV FH A THAV] FHN B B G (T I IS
¥ WaEfda 89 & wweg) SH o W g e e,
7t frsw W o1 ®iW w1 A R

(1)
(2)
(3)
(4)

60°
T
30°
45°

168. Tt 3% & 60 mA @ YR TEEd HH W 3T 1S §

Hhm gradE fufes Sl FTAF 25 md B | 59 S
T YThed B

(1) 0138H

(2) 13-89H

(3) 1389H

(4) 13888H

169. ®E @ 15 em W8 g % fFEt smaw guw @

40 cm F W @ & | 3R 3@ fomm 1 g &1 R
20 em TMFARG R o =, o widfera fea g
W fereerfue 81 Sa ?
(1) 30emTOEH F
(2) 36 cm T F TH
(3) 30 cm T % T

(4) 36cmTAEH F
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166. An em wave is propagating in a medium with a

16T7.

168,

velocity _V> = V{l\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1
(2)
(3)
(4)

— z direction
— x direction
— v direction
+ z direction

The refractive index of the material of a prism is
J2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatie light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence
on the prism is

(1) 80°

(2)
(3)
(4)

Zero
30°
45°

The magnetic potential energy stored in a certain
inductor is 25 mJd, when the current in the
inductor is 80 mA. This inductor is of inductance
(1) 0138H

(2) 1389H

(3) 1-380H

(40 13888 H

169. An obhject is placed at a distance of 40 em from a

7 WX ANTS I GO TTEeT
T ek TG R 1 SPAGE FOR O GHWORK

concave mirror of focal length 15 em. If the object
is displaced through a distance of 20 em towards
the mirror, the displacement. of the image will be
(1)
(2)
(3)
(4)

30 em away from the mirror
36 em towards the mirrer
30 em towards the mirrer

36 em away from the mirror
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170. feu wu wfme omm #, fEw dwed (V) 20V,

(1
(2)
(3)
(4)

20V

Ig =40 pA, I =10mA, p =250
Ig=40pA, Io=5mA, p=125
Ig=20pA, Io=5mA, p =250

Ig=25pA, Io=5mA, p =200

171. forelt p-n wf SEE # T B9 @ 99 # aREds

(1)
(2)

(3)
(4)

e =gopd (Tad) sfoet = wnfae s 2

p-n T F TR V - ] AfEww - wfae =
B

p-nﬁﬁ%mﬂﬁmqﬁmﬁl
Fa T T B TIfad w1 R |

172. o= # fRu ww ¥ & wueE # fafe v w1 femi A ik
B % W # 36 TSR = o o gl @

Aw

B»

(1

(2)

(3)

(4)

§
> y
[
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170. In the circuit shown in the figure, the input
voltage V, is 20 V, Vg = 0 and Vg = 0. The
values of Ig, I and P are given by

20V

(1) Ig=40pA, Io=10mA, p =250
(2) Ig=40pA, Ic=5mA, p=125
(3) Ig=20pA, Io-=5mA, p =250

(4) Ig=25uA Ip=5mA, B =200

171. In a p-n junction diede, change in temperature
due to heating

(1) affects only reverse resistance

(2) affects the overall V — I characteristics of
p-n junction

(3) does not. affect resistance of p-n junction

(4) affects only forward resistance

172. In the combination of the following gates the
output Y can be written in terms of inputs A and

B as

Ae I\

Be [ [ Y
>0

M A.B

(2) A+B
3) A.B+A.B

(4 A.B+A.B

7 WX ANTS I GO TTEeT
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173.

174.

ﬁé%ﬁﬁﬂwﬁamaﬁmq%ﬁmﬁwﬂ
foga-29 E %mﬁ%&ﬁuﬁm@qwéﬁi%
R IAHN 2 | T APE & WA T 0 g E &
FRY FHHT 9T 0 ¥ 6 m/s B AT & | IH W
fRatT M RmsEii A TR @A &
T H SR NS AFE ah Md A B R | 0 F
3 UHE o 9 fadiqT HR & AEE 9N IR HEa
o U #

(1) 2m/fs, 4m/s

(2) 1-5m/s, 3m/s

(3) 1m/s, 3:-F5m/s

(4) 1m/fs, 3m/s
MG S o % fFH ™ 9FE 99 ABC " m

2o 1 HIS st Remgar e 2 | 39 39 % gl
3R R W @’ o I ¥ | A% F A9 W R

@ o TU a 3R o % <19 T99 g0
A
]
a
et
C B
1) a=—°2
cosec O
(2) a=gtan®
(3) a=gcosh
_ B
) a_sinﬂ

175. et B 1 souma 1 @Y g % =A™ B AW 0-001 cm

STeUqHTH T T WA gRT I | §e T h AW
5 mm 3 JF M F1 Y WYY @9 § 25 R
W % | 9fz B 9 & Y 3¢ - 0004 em B, A 7
%1 WEl = FM
(1) 0521 cm
(2) 0529 em
(3) 0053 cm
(4) 0525cm

—> A
176. fag (2,0, -9 WFH@ A F = 41 + 5] — 6k &1

g (2, - 2, - 2) % wha: ol B

A A A
(1) -81-4j -7k
A A _a
(2 —-71-4) -8k
A A A
(3) -71-8j) -4k
A A
(4) —-41-j -8k
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173.

174.

175.

176.

0 W R e Sy . GOV TER
T @ :'?1 EI’E AR SRACETFOR R OUGEH WERK

A toy car with charge q moves on a frictionless
horizontal plane surfac_e) under the influence of &
uniform electric field E . Due to the foree q K,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are
respectively

(1) 2mfs, 4m/s

(2) 1-5m/s, 3 m/s

(3) 1m/s, 3-5m/s

(4 1mfs, 3m/s

A block of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘&’
towards the right. The relation between a and ©

for the block to remain stationary on the wedge
is

A
2
a
—0
C B
1 a=—2EL
cosec ©
(2) a=gtan®
(3) a=gcosH
(4) a= 5
sin §

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 em. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0521 em

(2) 0529 em

(3) 0053 ecm

(4 0-525cm A
The moment of the force, F =41 +5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -81-4j -7k
A A _a
(2) —-71-4j) -8k
A A A
(3) —-71-8j) -4k
A A
(499 —41-j -8k
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177. et THwATS A9 F AR (V) | a9 (T) % &9 [ 177, The volume (V) of a monatomic gas varies with

feRw 76 ¥ =W SR BT 2 | of9e A @ itst.tem?eratulze (;T), asb shs}\:rn in thi gr:ﬁ)h.hThi
5 . ratioc of work done by the gas, to the hea
B & WH F1 5 7 g e e i absorbed by it, when it undergoes a change from
T G SFEIa HEA1 B S R state A to state B, is
‘f ‘Tr
B B
A A
0 —»7 0 T
@ 2 W 2
5 5
2
2 = 9 2
7 (2) -
1
3 = 3 1
3 (3) 3
2
ol 2
@ 3 @ <
178. '@ﬁ Rl ﬁ qd 1 = 178. The fundamental frequency in an open organ
Y % g O (e B AR % e # pipe is equal to the third harmonic of a closed
gfe g2 TH URY & w1 20 em %, al lgﬁ A organ pipe. If the length of the closed organ pipe
Y 6 TR an is 20 em, the length of the open organ pipe is
(2) 168em (2) 18em
(4) 8cm (4) 8cem

. . - : 179. The efficiency of an ideal heat engine working
179. 5 % or % o1 between the freezing point and boiling point of

e I C R s o B o B water, is

(1) 268% (1) 268%

(2 12-5% (2 1285%

(3) 625%

4 20% (3) 625%
(4) 20%

180. form M W SifeETSE owpsti 1 T WIS 4 (rms)

=TT M % EIRLLE] ¥ YARH R T4 % faw A 180. At what temperature will the rms speed of
e &) T 2 oxygen molecules become just sufficient for

escaping from the Earth’s atmosphere ?

(ﬁ?ﬂ LRI (Given :

STerdIoF % AT T FoAWH (m) = 276 x 10726 kg Mass of oxygen molecule (m) = 2-76 x 10~2° kg
ElEu IR ED kg =138 x 10723 J K1) Boltzmann’s constant kg = 1-38 x 1078 JK™
(1) 2508x 10*K (1) 2:508x 10* K

(2) 1254x10*K (2 1254x10*K

(3) 5016x 10*K (3) B5016x10*K

(4) 8360%x 10*K (4) 8360x10* K

O WX ATSIUdY.COon T ee!
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Rferfaea Rdor carmr @ od :

1. I8 I W s wandi, Flas &1 s
T feE |

o. Irefigs M g H fomw srgafa & fam
s qdaed] 39T TUE A 3 |

3. @R Flee &1 39 S uA fou fe s
Jfesfae W @MW TR oy o =
qhenefl whian ga A& oigh | afy fedt
ghignefi ¥ et Ww Sufesfauss w
gearer T forn i g W smom f e
IW g T Al g o ug orgfua anm
HT ATHSAT {1 AT |

4. AR /EETETIq UNheTs &1 TR afia
2|

5 TanEle § A & fou qdianedf when &
frami v fafemi g e § | sfa
gieF & @t ATl @ oo 39 THEm %
i wg fafoemi % eEr g |

6. fopell i go ¥ wlan g 3R W
1 HiIg UFT 3T A Hi |

7. ol gieqeem w3 # fou wu gdisn g
Tha 1 ghenefl o€l ok ¥ Iufedfa o #
ford |

Read carefully the following instructions :

1. Each candidate must show on demand his/her
Admit Card to the Invigilator.

2. No candidate, without special permission of
the Buperintendent or Invigilator, would
leave his/her seat.

3. The candidates should not Ileave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
gign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

4. Use of Electronic’/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as
per Rules and Regulations of this
examination.

6. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Test
Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.
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